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QUESTION 1

Which two zpool subcommands will permanently remove a submirror from active storage pool? 

A. remove 

B. detach 

C. destroy 

D. offline 

E. replace 

F. split 

G. zpool does not permit this operation on an active storage pool unless the submirror faults. 

Correct Answer: AB 

 

QUESTION 2

Select the two requirements of all interfaces in an IP network multipathing group (IPMP). 

A. be statically configured 

B. have test IP addresses configured 

C. have data IP addresses configured 

D. be connected to the same IP subnet 

E. have the same set of STREAMS modules 

Correct Answer: BD 

 

QUESTION 3

The network/ssh service is offline and you suspect that one of its configuration files may be missing. Which option will
identify the missing file? 

A. svcs l 

B. svcs d 

C. svcs D 

D. svcs x 

E. svcadm clear 
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F. viewing the network/ssh log file 

Correct Answer: D 

 

QUESTION 4

Which two statements are correct regarding IPS repositories? 

A. Remote client access is governed by svc:/application/pkg/server. 

B. Every new repository contains the solaris publisher by default. 

C. One repository can replicate the contents of another. 

D. The pkg.depotd process makes all local repositories remotely available. 

E. A repository uses separate protocols for pkg and browser clients. 

Correct Answer: CE 

 

QUESTION 5

You administer an Oracle Solaris 11 system that uses a user-defined Network Configuration Profile (NCP). You now
need to modify the DNS name servers. Select the profile type that you will need to modify. 

A. Automatic-NCP 

B. Location profile 

C. Network Configuration Unit 

D. External Network Modifiers 

Correct Answer: A 

Latest 1Z0-822 Dumps 1Z0-822 VCE Dumps 1Z0-822 Practice Test

Powered by TCPDF (www.tcpdf.org)

Latest 1Z0-822 Dumps | 1Z0-822 VCE Dumps | 1Z0-822 Practice Test                                3 / 3

https://www.geekcert.com/1z0-822.html
https://www.geekcert.com/1z0-822.html
https://www.geekcert.com/1z0-822.html
http://www.tcpdf.org
https://www.geekcert.com/1z0-822.html
https://www.geekcert.com/1z0-822.html
https://www.geekcert.com/1z0-822.html

